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CHAPTER 8

How Do Organisms Reproduce

1 The anther contains
(0) sepals
() carpel
Ans : (d) pollen grains

(b} ovules
(d) pollen grains

2. The development of a seedling from an cmbryo under

appropriate condition & called

() regeneration (b) genminstion
(¢) vegetative propagation (d) pollination
Ans : (b) germination

Germmution 15 & process ocourrmg in plants in which
the embryo develops into a seedling under approprste

condition.
3. Site of fertilization m maummals is
(a) ovary (b} uterns
(¢) vagina (1) fallopian tube

Aus : (d) fallopisn tube

4  Which of the following organisms do not depend on

reproduction to exchange genetic mfonmation
(a) animals (b) plants
(c) bacteria (d) fung

Ans : (c) bacteria

8§ By which method, ssexual reproduction occurs in

Amoeba

(a) fAssion (b) budding
(¢) germination (d) o1l of these
Ans : (u) fission

8. Which of the following is not an outcome of variations

present im population”

(a) Bacterial resstance to heat

() Diffarent colour of eyes

{¢) Maintenance of body design fearures

(d) Survival of species over time

Ans : (¢) Mamtenance of body desipgm fearres

Varmtions are not responsible for wamtenance of

body design fearures

1 Asexual represduction produces offspring that are
(n) genetically identical 1o their parents
{b) genetically identical to their siblings
(¢} none of the sbove
(d) both (a) and (b)

Download all GUIDE and Sanple Paper pdls lTom

Ans: (d) both (a) and (b)

8. Which of the [ollowing have buds on their leaves ns

vegetative reproducing structue?
(a) Kose (b) Strawherry

(¢) Bougnincillea () Brvophylhom
Ans : (d) Bryophyllon
Bryophylhnn reproduces by the buds present in their

notohes along the leal mwargin of Bryophyllum which
falls on the soil and develops into new plants.

8. The development of offspring fram any part of body

is called

(a) asexnal reproduction

(b) sexnal reproduction

(¢) vegetative reproduction
(d) all the nbove

Ans : (a) asexal veproduotion
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M. The process of development of ongonisin ke itself 1=

called
(a) budding (b) flowering
(c) reproduction (d) none of the above

Aus : (¢) reproduction

1. Budding and fissian are processes used by

(8) diocious species

(b) hermaphraditic organisms

(¢} organisms requiring new gene combinations for
each generation

(d) wsexunlly reproducing species

Ans : (d) asexually veproducing species

12. Seminiferous tubules are composed of

(8) Spennatogonin
(¢} Sensory epithelinm

v |

(b) Glandular epithelinm
(d) Germinal epithelinm
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Chap 8 . How Do Omgainsins Reproduce

Ans : (d) Germinal epithelim

1. The migiotion of pollen grams to stigins 15 called os

(a) fertilization (b) pollination
(¢) Msion (d) reproductiom
Ans : (b) pollination

Cowper's glands are found in

{a) male msmmals
(¢} mule mnphibisns
Ans : (a) male mammals

(b) female mammals
(d) female smphibians

Which of the followmg helps in transport and nutrition
of sperms?

{a) Mucns (b) Blood

(e} Urine () Glandular secretions
Ans @ (d) Glandular sectetions

Glands hike prostote and sommal vesicles add their
secretions to vas deferens so spenns are  essily
transported and nortured Gl maturstion.

Which of the followmg 15 embedded m the utenne
wall”

(n) Zygote

(¢} Placenta
Ans : (¢) Placenta
Placenta is embedded in the uterine wall.

(b) Embryo’s head
(d) Egex

Acrosome s made up of
{a) mitochondris

(e) golgi bodies
Ans : (o) golgi bodies

(b) centrioles
(d) ribosomes

The disgram shows the cross-scction through  the
carpel of & flower just before fertilisation.

s

Where will the male and female gametes be just before
fertilisation”

Male gamote Female ramete
(a) 1 5
(b) 1 4
(c) 2 4
(d) 3 5
Auns : (d)

The pollen grain germinates to form o pollen tabe. This
tube grows downward through the tizsnes the style
and ovary wall As the pollen tube grows. its nuclens
divides forming two male ganetes These gumetes are
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relensed mto the ovule. This happens when pollen
tube enters the ovale through the micropyle

Oral-contraceplives prevent the
(a) fertilization

(b) ovalation

(c) implantation

(d) entrance of spenns in vagima
Ans ¢ (b) ovalation

Which conditions are necessary to activate enzymes
when 8 seed germmates?

(a) C (b) A
(c) D d) B
Ans: (d) B

The geeds nsually genminates in the soil where light is
not peeded. However, suitable wnperature and water
both are needed providing faveurable conditions for
seed 1o germmate by sotivating the enzymes.

Fertibization ocows in human beings in
(a) uterus (b) ovary
(¢) oviduct () vagina
Ans : (¢) oviduct

. Menstrunl eyele is gencrally of
(a) 21 daye (h) 28 dave
(c) 38 duys (d) 40 days
Ans ¢ (b) 28 dovs
Progesterone is secveted by
(a) corpus luteum (b) thyroid
(¢) thymus (d) testes

Ans : (a) corpus uteum

Given below are cortain adaptations in fruits of certain
plants. On the bose of mformation given below,
identify the agent of pollination m both situations,
1. Small, dry and hght sceds with a parachute of
fine hair.
2 Brghtly-coloured, swoet and juicy but hard seeds.
(n) l-insects, 2-animals {b) l-water, Z-insects
(¢} 1-wind, 2-animals {d) 1-birds, 2-imsects
Aus : (¢) 1-wind, Z-ununals
The seeds pollinated by birds are small, dry and light
s0 they can easily ot e wir and carmied away.
They hann fem hair (papers) to increase buoyancy
m v
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For amuml dispasal the seeds are Brightly
coloured. sweet and juicy to sttract birds and animals.

They are hard so they can pass through animals
undigested into the soil

The diagram represents gametes P und @ fusing o
give cell B This cell then praduces gametes S 70U

o
@ ?‘,%

Which statement abont the number of chromosomes

in the cells and gametes is corrects

(a) The nmmber of chromosomes in P and @ are
chfferent.

(b) The number of chromesomes in P and Q are
sAne

(¢} The number of chromosomes in § in one quarter
of chromosomes in i

(d) The number of chromoscmes in 7 is half the
nunber of chromesomes in @

Ans : (b) The vumber of chromesomes in P and @
are same

P and @ we haploid gametes white R s zygote and
dipolid. Zygote give rise to an individual which further
produces gametes by meicsis in which chromosome
number is half e haplad.

Like animals, plants prodnce

{a) many more sperm than egps

(b) » few more sperm than eges

(¢) equal numbers of sperm and eges
(d) fewer sperin than eges

Ans : (a) many more sperm than eges

. The vegetative reproduction in sweet patato s done
by

(s) stem (b) leaf
() root (d) Nower
Ans : (c) toot

Among all the methods of contraception, which one
can prevent the implantation of the fertilised egg?
() Coil (mechamcal) (b) Condom (mechanical)
(¢} Spermicide (chemical)  (d) Vasectomy (surgical)
Ans ¢ (a) Coil (mechanical)

The coil is un IUD (Intta Uterime Device) made up of
a loop or ring of plastic or steel It is inserted into the
uterus by & doctor. It prevents the implantation of the
fer tilised egg into the uterine wall
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29. In mamnmals the testes he in sevotal sacs due to

3z

(u) presence of wrinacy bladder

(b) presence of rectuim

() long vas-deferens

(d) requivement oflow temperature for spermatogenesis
Ans ¢ (d)  requirenent of low  temperature  for
spermatogenesis

Tumica albnginea is the covering around
(a) ovary (b) testes
(c) kulney (d) heart
Ans : (b) testes

The diagram shows the arrangement of blood vessels
in the uterns wall and placenta of a pregnant women.

Which of the following will increase m concentration
in the blood at it flows from 1 and 27

(a) Amino scids (b) Carbon dioxide

tc) Glucose (d) Oxygen

Ans : (b) Carbon dioxide

As the mother's blood passes through placents, most
of the carbon dioxide from foetal blood diffuses into

it. Thus the concentration of CO,; ncreases m the
materanal blood

The dingram show a section through the fernale
reproductive system,

During pregnancy, where does mitosis occur in the
cells of the embrya

(a)

(b)

()

S S N L N
XX |ISES |1
SIS X SN

(d)

Kev v = takes place, X = does not take place
Ans : (¢)
X 15 the Fallopian tube or oviduct, where after
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fortilisation, zvgote develops o embryo by mitosis
Z s the uterus, where embryvo is implanted it grows
in gize to foetus and child by mitosis.

A

During the hirth process, the pituitery hormone
... signuks the nterns to contract.

Ans : Oxytoon

male reproductive parts of o Nlower.
Ans : Stamen, pallen grains

. are the

The pracess of release of epgs from ovary is called

I many in vertebrate crganisms, both sexes are found
in the saane individusl This is colled .

Ans : Hermaphvoditism

The development of the
fertilization freed the animals from the aquatic
environment for reproduction and development.
Ans : Land. Internal

Cross pollination brings about . recombination
m new plants.
Ans : Genetic

A txhnique o produce generically alike individnals
from a single coll is known as
Ans : Cloning

The process of asexual reproduction in Amocba s

cee help m o survival of the species in changing

cnviromnent
Ans : Variations

s common method of multipbcation of Yenst
and Hydra

Ans : Budding

Budding is a common method of asexnal reproduction
in yeast amd

Ans ¢ Hydra

) (AR vegelative prupagation oceurs by leaves.
Ans : Bryophylum

By the fusion of male and female gamnetes, 15 formed.
Ans : Zvgote
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Liges ave produced in
Ans : Ovary

.. ... bearing avary with
reproductive putts of a flower.

Ans : Carpel, ovules

. are the ferpale

. Release of egg from ovary @ called as ...

Ans : Ovalation

Surgically when fallopian tube s removed or ligated,
itisealled ... .

Ans : Tubertomy

Ovulation w female lmman beings <tops after the age
oo
Ans : 45-50

oo Nowers e undergronnd closed fowers.
Ans @ Cleistogamons

Organisms such as
braken mto pieces,
Ans : Hydin

can regenerate if they we

....... i the penodic discharge of blood, mucouns,
uterine mcosa pleces, ete. from uterus.
Ans : Menstnration

Fertilization acenrs in the
Ans ; Fallopian

.. tube

Ans : Stamens

.. contam half the amount of DNA compared to
the parents

Ans : Cerm cells

Pollen grsans wie transferred from stamens 1o

of carpel
Ans : Stigmna

An egg cell of a plant is contained man
11 W1 OVELY.
Aus : Ovule

present

Tromsfer of pollen from one flower to stigma of another
fower of same species is termed

Aus : Cross-pollination

Testes are located ontside the abdominal cavity m
Ans : Scrotum

Ovaries are also responsible for the production of

hormone called
Ans : Estrogen /Progesterone
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30. Plants raised by vegetative propegation bear early
......... and L

3L Futwre shoot hidden in o seed 15 called
Anps : Plomule

32. The gametes are formed in most of the multicellalar
organiems by a prooess of cell division called
Ans : Meiosis

33, The two parts tied together during grafting sre called
BT DR

3 If the . ... in the male is blocked, sperms can be
prevented to . the cgg

Ans : Vas deferens, fertilize

35. A bud in Hydra develops an outgrowth to vepeated
division st & ....... e .

Ans : Spexific site

36. Simply break up into smaller preces upon maturation
igfoundm .

Ans : Spirogyra

e e
k- .
de LS

DIRECTION : Read the following statements and write your
answer as true of fulse.

1 Transfer of pollen grains from one flower to the stigma
of another flower is known as cross-polhnation

Ans : True

1. Vegetative propagstion by leaves occurs i sweet
potato.
Ans : False

3. Transfer of male gametes to the stignna of flower is
evalled pollination
Ans : Tiue

4 Sexunl reproduction involves two individoals for the
creation of a new individual
Ans : Trua

6. DNA copving mechanisms creates varistions which
are useful for ensmiing the survival of the species.

Ans : True

6. Flants that produce asexnally do not prodnce fower
Ans : False

1. Placenta is the name of a vital connection batween

mother and embryvo.
Ans : True
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Rhizopus reproduces by fragmentation.
Ans : Folse

Before cell division copying of DNA 15 not essential
Ans : False

Birds are ovipaious.
Auns : True

The only function of the testes is to produce sperm
Ans : False

Sertoli cells ave mvolved in testosteromne production.
Ans : e

Ovulation occurs in reproductively  sctive females
roughly in the middle of menstrual eycle
Ans : Te

Acrosome i the eperm carties the genetic material
Ans : Tine

Embryo gets embedded m the uterine wall
Ans : True

Amimal development is limited to the period prior W
bird hatching
Ans : Falso

In fission, many bacteris and protozos simply divide
mto two or more doughter cells
Ans : False

Fertilization i= the fasion of sperm and ovum.
Ans : True

Sperms mature st 4 temperature higher than that of
human body.
Ans : False

Reproduction, wnlike other life processes, is not
essential ta maintain the life of an individeal organism
Ans : True

Une advantage of sexual reproduction is that it allows
for genctic sumeness.
Ans : Fulse

Onset of menstration = termed as menopause.
Ans : False

In Spirogyrn, assexual reproduction takes place by
Fragmentation.
Ans : True

The maternal blood supply mixes frequently with
the foetal blood supply during the exchange of waste
ma.erinks and nutrients.

Ans : False
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The DNA copyimg mechanisras create variations which
nre useful for ensuring the survival of the species.

Auns : Thue

At the tirne of birth, » baby girl has thousamds of
nInsature eges

Aus : True

Bazic event in reproduction i oveation of DNA copy
Ans : True

Plasmodium multiplics by binary flission.
Ans : False

Bryophyllum propagates through spore formation.
Ans : False

Copper-T is a contraceptive device used by women
Auns : Tiue

Hibiscus has umisexual flowers.
Ans @ Folse

In marnmals melading man, fertilzation takes place
externally
Ans : False

Reproduction, unlike other Nfe processes, is not
essential W mwamtaim the life of an individual organism.

Ans : True

In fission, many setena and protozos simply divide
into two or mare daughter cells
Anz : True

Sexnal reproduction does not lead to vanation in n
populntion.
Ans : False

The ovary of a flower grows into a fruit
Ans : True

Reproduction 1s not essential for an Individual but to
nmintain the spevies
Ans : False

Regeneration is the same as roproduction
Ans @ False

The ovulation takes place 10-12 days after the start
of menstruation.

Ans : True

In male adults testes are located in scrotum 1o
facilitate sperm formation
Ans : True

Pertilisation of egg takes place in uterus.
Ans : False

42,
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The male germ-cell produced by pollen grain contains
hall the amount of DNA as comparad to the other
body cells of the plant,

Auns @ True

Vegetative propegution produces plants that are
genetically similar to the parent plant

Ans : True

Sexually transmitted diseases can be prevented by
using condoms.

Ans : True

Reproducing cells don not replicate DNA
Ans : False

Pjants produced by vegetative propagation  are
genetically similar to the parent plant.

Ans : True

In lmman-beings, male can produce spenns upto the
age of 45-50 yvears.
Ans : False

DIRECTION : Fach question contains statements given in

two colunns wluch bave to be matched. Statements (A, B, C.
D) in columu-T have to be matched with statements (p, q. 1. s)

o column 1
1
Colwmmn I Colwnn 11
{A)| Animals which give | (p) Hydia
buth to voimg one
(B) Animal which (q) Planaria
producess bud
(C) An ammal which (r) Placenta
shows regeneration
(D) | Provides nutritiom to | (s) | Cross-pollina-
the developing cmbryo tion
(E) | The pollen transterred | (1) | Genmination
from one flower to
another
(F) | The process in which | (n) Viviparous
embryo develops mto
amdllng
(G) Fertilised egg in (v) | Menstynation
humans gets implanted
in
(H) | When cgg in humans | (w) Uterns
15 not fertilised, what
happens?

Gl o

Ans : A-u, B-p, C-q, D-r. E-s. F-t, G-w, H-v
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1.
Colmmm I Columm 11
(A) | Semmal vesicle | {p) Latex sheath
(B) | Urimogenital duct | {q) Scinen plasia
(C) Condom (v) Protozoan
(D) | Tochomoniasis | (x) | Corpus spongio-
suIm
Ans : Aq Bs C-p. D-r
3
Column 1 Calunm 11
(A) Auocba (p) Budding
(B) Hydra (q) Regeneration
(C) Planaria (r) Fission

(D) Rhizopus (s) Fragmentation
(E) SpirogyTe (t) | Spore formstion
Ans: Ar B-p, C-t D-s, Iiq

DIRECTION : In the following questions, a statement of
assertion (A)1s followed by a statement of reason (R). Mark
the correct charee as:

(n) Both assertion (A) and reason (R) are true and
reasom (R) is the correct explanation of assertion
(A).

(b) Both assertion (A) and veasem (R) are trus but
renson (R) s not the correcl explanation of
assertion (A)

(¢) Assertion (A) s true but reason (R) is false

(d) Assertion (A) is fales but reaszon (R) is true

(e) Both Assertion and Reason are false

1 Assertion : DNA copying s nevessary  during
reproduction
Reason : DNA copving leads to the transmmssion of
charscters from parents to offspring
Ans : (a) Both assertion (A) and reason (R) are true
and reason (R) s the correct explanation of assertion
(A)
DNA copymg is necessary during reproduction becanse
it leads to the transiission of characters from parents
o offsprings and brings abont variation

2. Assertion : Holoblastic cleavege with almost egqual
sized blastomeres is a charactenstic of placental
aninals
Reasan : Eges of most mamals, including humans, are
of centrolecithal type.

Ans : (o) Assertion (A) is true but reasem (R) 18 false

3. Assertion : Sexual reproduction meresses genetic
diversities and plave a role in arvigin of new spevies
Reason : Sexual reproduction mvolves formation of
gametes and fusion of gametes
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Aus : (1) Both assertion (A) snd reason (R) sre tne
and reason (R) is the correct explanation of assertion
(A).

Sexusl reproduotion involves two parents that resulty
m the offsprings that are not identical to the parents.
If causes variations, which are essential for evohation
as well as smivival of species under unfavourable
conditions

Assertion : An cmbivo i fonoed fiom fertilized ege
Reason : A monocot embrvo comprises embryonal
uxts with two cotvledons.

Ans ; (¢) Assertion (A) is true bt reason (R) i false.
Zypote, a fertilized egg give rise Lo an embryo, which
has the ability to develop into o complete plant, A
typical dicot embryo comprises an embryonal axis
with two cotyledons.

Assertion : Scrotwmn is present outside the abdominal
COVity

Reason : It stores sperms which requive a lower
temperature than the normal body temperature,
Ans ¢ (n) Both assertion (A) ond resson (R) are true
and reason (R) s the correct explanation of assertion
(A).

Scrotum, a pouch containing testis is present outside
the abdominnl cavity bersuse spames require a lower
temperature than the normal body temperature.

Assertion : Vagina is also called as birth canal
Reason : During bith, the baby passes through the
vagina

Ans ¢ (a) Both assertion (A) and ressou (R) are true
and reason (R) is the correct explanation of assertion
(A)

Vaginu = called ax birth canal, because the haby
passes through the vagina duving birth,

Assertion @ lodividuals poduced by asexual
reproduction are known as clones

Reason : They are known as clones because they are
genetically identical

Auns : (v) Both sssertion {A) ond reason (R) are true
and reason (R) 15 the correct explanstion of assertion
(A).

The new individuals produced after cell divisions in
asexnal reproduction are always genetically identical
or clone to each other and their parents

Assertion : Vasectomy ie a snrgical method or hirth
control.

Reason : In vasectomy. small portion of oviduet is cut
or tied praoperly.

Ans : (¢) Assertion (A) i true but Teason (K) is false
Vasectomy is a surgical method or birth control in
which small portion of the sperm duct s cut or tied
properly

Assertion : HIV-AIDS is o bactenial disesse.
Reason : [1 spreads throngh sharing of food and water
Ans : (¢) Hoth Assertion and Reason are false

HIV-ATDS is viral disease that s teansmntted sexually
¥ Page 72
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It is Gne of the STDs.

Assertion : In human male, there are perianal glands
near the anns

Reason : Pepaunal glands secrete  sex-attractant
pheramone which initiates sexual desire in haman
fenule.

Ans : (d) Assertion (A} is fulse bot reason (R) 18 true.

Assertion : Amobes reproduces by Bimary fission.
Reasan : All wnicellnlar organisis reproduce ssexually.
Ans : (s) Both assertion (A) and reason (R) are true
and reason (R) is the conect explanation of assertion
(A)

Amoebn 15 o mnicellulnr orgamsm. 1t reproduces
asexnally through binary fission It & the division of
one cell mto two simidar o wWentical cells,

Assertion : In momla stage, cells divide withont
increnses in size

Reason : Zona pellncida vemain undivided till cleavage
is comnplete

Ans : (8) Both sssertion (A) and reason (R) wre trae
and reazon (R) is the correct explanation of assertion
(A)

Assertion
BNZIOEPETINS
Reason : Triple fusion oceurs in both fertibzation.

Ans : (¢) Assertion (A) is trae but reason (R) is false.

Double fertilization is a characteristic feature of
Mowering plants. In this process. ont of the two sperm
nuclel, one sperm nucleus fuses wath the egg nuclens
to form an embryo (process s called synguny) and
anather fuses with the secondary micleus to form an
endosperm (process i8 called triple fusion). Becanse
two kinds of fusion-syngsny and triple fusion-take
place, the process is known as double fertilisation

Assertion : Unisexual flowers have separate male and
female flowers wheress o typical monocot embryo
comprises an embryvonal axis with single cotyledon
Reason : Cucumber, pumpkin and water melon are
exarple of nnisexnal flowers

Ans: (b) Both assertion (A) ond remson (R) are
true but reason (R) s not the correct explanation of
assertion (A)

Umsexnal flowers huve seporate male and female
flowers. The example inchides cocumber, pumpkin
and watermelon

Donble  fertilisation s umque to

Assertion : Plants are vegetatively propagated even
though they bear seeds.

Reason ¢ Potatoes reprodoces through tubers, apples
by cutting ete

Ans : (b) Both assertion (A) and reason (R) are
trne but reason (R) is not the correct explanation of
assertion (A).

Vegetative reproduction happens through the use of
vegetative paris of the plants, such as leaves, stems,
and 1oots to produce new plants or through gowth
from specinhzed vegetative plant parts
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Assertion : Pollen grains from the carpel stick to the
stigmn of stamen.
Reason : The fertilised ege cells gvow inside the ovules
and became seeds
Ans ¢ (d) Assertion (A) is false but reason (R) is true.

Assertion : Characteristios ol parental plants can be
preserved through asexual reproduction.

Reason : Vegetwtive reproduction involves only
mitosis

Aus : (n) Both assertion (A) and reason (R) are true
oned reason (R) is the corvect explanation of assertion
(A)

Asexnal yeproduction imvolves a single mdividual,
which give nse to new individual that are genetically
identical to parents. It is because, when organisms
reproduce asexually, only mitotic divisions are involved
and the chromosome nunber remains the same.

Assertion : Urethin i human male acts as urinogemtal
canal

Reason : Uretlun carmes only urine while sperms are
carried by vasa deferentia anly.

Ans ¢ () Assertion (A) is true but reason (R) is false

Assertion @ During  fertilization  only’ head  of
spermatozon enters e,

Neasan : IT soveral spermatozon hit the egg nt sunc
time, all can enter the egg.

Ans : () Assertion (A) s true but 1eason (R) is lalse

Assertion
blastogenesis
Reason : In asexnal reproduction, their is no formation
omd fusion of gomnetes.

Ans i (b) Bath assertion (A) and ressou (R) me
true but reason (R) 18 not the carrect explanation of
assertion (A).

Ascxual reproduction is also  called

Assertion : amoebs shows multiple fission durimg
unfuvorsble conditions.

Reasan : Chances of survival we less  during
unfavourable conditions.

Ans : (a) Both assertion (A) and reason (R) ae troe
and 1eason (R) 15 the correct explanation of assertion
(A)

Assertion
fission.
Reason : Mnultiple fission s a type of wasexual
reproduction.

Ans: (b) Both sssertion (A) and reasom (R) are
tme but reason (R) is not the correct explanation of
assertion (A).

Plasmodinm prproduces ssexually by multiple fission

Assertion : In human renle, testes nie extro-abdominn
which are present inside scrotum

Reason : Scrotum has a relatively lower temperature
needed for the prodoction and storage of sperms.

Ans : (8) Both asservion (A) and reason (R) are true
und reason (R) = the conrect explanation of nssertion

; e Page 73

Plasmodinm  reproduoces by multiple



Chap § - How Do Orgamisms Reproduce

(A). NO NEED TO PURCHASE ANY BOOKS
Formation of sperms needs lower temperature than hn'lmmun 2019-2020 free pdl wall be: available ot
the normal body temperature Hence, testes lie ontside for
the hody cavity in the serotum. 1. Previons 16 Years Exams Chapter-wise Question
. Bank
M. Assertion : At puberty, in boys, voice begins to crack |2 Previous Ten Yeus Exun Paper (Paper-wise).
and thick han grows on face. 3. 20 Mudel Paper (All Solved)
Reason : At puberty, there is decreased secretion of 4 NCERT Solitions
testosterone in boys. All material will bo solved and free pdl 1t will be
Ans 1 i R - b
: (c)iAu:a:ul'l(A)lsl::ntrenson( ) is false mmm m%plnnb:r-:u-izi‘l&b:gpﬂdswdw
nberty in boys is regula y male sex hormone 15 L s 100 purvake ngmmnn
called testesterone, which are secreted by testes In o ”m“*m“.'mm

puberty, sscomdary sexual characters like growth
of han on face, chest, brondening of shoulders and
deepening of valce occurs

25, Assertion : Spores are unicellular hodies.
Reazon : The pavent body simply bresks up into
smuller pieces on maturation
Ans 1 (¢} Assertion (A) is true but reason (R) t= false

26. Assertion : Surgical methods are mest effective
methods of contraception
Reason : Surgical method blocks gametes transport
and hence prevent fertilisation.
Ans : (a) Both assertion (A) and reason (R) aie true
and reason (R) is the correct explanation of assertion
(A)
Snrgical method like vasectamy in male and rubectomy
in female prevent pregmancy. These methods block
guncte transport and  hence prevent fertilisation
They are very effective but reversibility 15 very poor

277, Assertion : Asexual reproductiom i= a primitive type
of reproduction.
Reason : Asexual reproduction involves only mitotic
cull division.
Aus : (a) Both assertion (A) and 1cason (R) wie true
and 1enson (R) is the correct explanation of assartion
(A

28. Assertion : Clones arve offspring of an organism formed
by asexual reproduction
Reason : Clones have exact copies of DNA as thei
parent.
Ans: (b) Both sssertion (A) snd veasom (H) are
true but reason (R) 15 not the correct explanation of
assertion (A).

29. Assertion : Colonies of yeast multiply i sugar solution
Reason : Sugar is made of sucrose which provides
enorgy for sustaining all life activities.

Ans : (a) Both assertion (A) and reason (R) we true
and resscn (R) is the correct explanation of assertion
(A).
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